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For all real numbers 8 for which the expressions:are defined, '

sin(@) = sin(2nn + 0) and cos(8) = cos(2mn + 6) for all integer values ofn

tan(@) = tan(mn + 0) for all integer values of n ‘ | y R

sin(—0) = —sin(9), cos(—8) = cos(6), and tan(—6) = — tan(6) N

sin (% + 9> = cos(0) and cos (% + 6) = —sin(6)

sin (%r - 9) = cos(0) and cos (% - 6) =sin(0) . : " ‘e
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1. Evaluate the following trigonometric expressions. Show how you used the unit c1rc|e to determine the solution.
sm(——) "7[1\( ..q,-c) .,Slﬂ(lﬂ"i'-é) = ?i"[(-t‘r) (2 o
o cos(-30) = f5(50) = 05 (G -T)= (w307 T)= w3(-5)= ‘0’(3‘>
c. tan (ZSH) :
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j. cos(—32n - -ji
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a with 0 < a < 2m so that sin(a) = cos(f).

o p=L cos(E)=% sin(0) >4 & must be either T or 5T
e. B="F (435(%’)::% Si“/l[d)?‘%% d:‘%".’égl_
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3.Jamal thinks that cos (a - %) = sin (a + %)

for any value of . Is he correct? Explain how you know.

Joaral 15 Cofreck 36 6=+ 8% =otef-5 =d-F
¢ine 05 (p-%)z5in(d
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4.Shawna thinks that cos | a — ™\ = sin(a + Z) for any value of a. Is she correct? Explain how you know.
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Example dnswers (
5.A frog is sitting on the edge of a playground carousel with radius 1 meter. The ray through the frog’s position and the

center of the carousel makes an angle of measure 8 with the horizontal, and his starting coordinates ane_approximately
(0.81,0.59). Find his new coordinates after the carousel rotates by each of the following amounts.

h. Tk @s(0+%)z 75inf8) = 0.5 (-0-5%0.21) P
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